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SOl OIFEH SEMS MM U 5E MBHAXY (S5l &2
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 700,000
Al 350,000
408 XX SIS K20/ 1,050,000 850,500 199,500
= 700,000
Al 350,000
01 MXSHAZBE 1,050,000 850,500 199,500
ANERI0 UK OISES3 AL 1,050,000
= 700,000
Al 350,000
NEET-INE 1,255,000 625,000 630,000
3 920,000
Al 335,000
408 XHXISHHIS XH= 0| & 1,255,000 625,000 630,000
3 920,000
Al 335,000
01 MXSHAZDE 1,255,000 625,000 630,000
ssE2 84 625,000
3 500,000
Al 125,000
S42 MXIRSHE AYAY 630,000
3 420,000
Al 210,000
S YNSRI 180,685 177,520 3,165
= 148,800
Al 31,885
308 XHXIEHHIS Ol & 180,685 177,520 3,165
= 148,800
Al 31,885
01 MHXSHHZHSES 180,685 177,520 3,165
EYNSR 22 180,685
= 148,800
Al 31,885
DIMSHNES HHBLH AL 20,000 19,530 470
308 XHXIEHH SO & 20,000 19,530 470
01 RASHBASES 20,000 19,530 470
DIME MAHEES A0S SHELH A 20,000
2= HIRXBAIY 1,900,000 1,741,785 58,215
= 1,425,000
Al 475,000
308 XHXICHHI SO & 1,900,000 1,741,785 58,215
= 1,425,000
Al 475,000
01 MXSHZHSES 1,900,000 1,741,785 158,215
SINEHI X AL 1,900,000
= 1,425,000
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Al 475,000
= SAUHXEA 3,511 6,545 N 3,034
= 2,341
Al 1,170
308 XMXIEHHSOIN 3,511 6,545 N 3,034
= 2,341
Al 1,170
01 MXSHAHBNEXS 3,511 6,545 N 3,034
=H| &2 SN 3,511
= 2,341
Al 1,170
E=DNDAE] 806,600 806,600 0
= 374,870
Al 431,730
XSSOl A 806,600 806,600 0
= 374,870
Al 431,730
AXSHMBAEEZ 806,600 806,600 0
S0 XI& 12,600
= 8,400
Al 4,200
S0l X4 & X2 794,000
= 366,470
Al 427,530
A= 208,000 274,000 266,000
= 104,000
Al 104,000
308 AHXIEHXI SO0l & 208,000 274,000 A66,000
= 104,000
Al 104,000
AXHMBAERZ 208,000 274,000 66,000
ASFO0F AH L=H| X 208,000
= 104,000
Al 104,000
IS XIEAS ,239,462 ,026,750 212,712
308 AHXIEHHI SO A 549,962 557,250 NT,288
01 IXSHIBAMNBEEZ 549,962 557,250 NT,288
H 2R dq32 A& 105,000
StEdEHIE F2dl N3 140,000
& HSoH LHMOIA X3 15,750
LEHSE S| A& 8,000
BN A5, 20t)] XI& 7,875
MAZ 2A0IAHYE SSEH 35,000
t=Ml=sIF Mol2E 2 X & 15,000
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Il 1,346,846
Al 577,220
307 QI2H0IA 1,924,066 1,496,137 427,929
pJ 1,346,846
Al 577,220
02 UAHATZ 1,924,066 1,496,137 427,929
SNRIA EX3 1,924,066
pJ 1,346,846
Al 577,220
SEAIBIEY 45,000 145,000 100,000
402 BI2EXHE O A 45,000 45,000 0
01 BIZIH=EEE 45,000 45,000 0
== Al ALY XI & 45,000
NEIIEgA T 146,015 177,730 A31,715
= 81,148
Al 64,867
206 24 124,015 147,730 A23,715
= 70,148
Al 53,867
01 M2l 124,015 147,730 A23,715
IPELAANY HSAZ(HA)S B3 124,015
= 70,148
Al 53,867
307 QI2HOIA 22,000 0 22,000
= 11,000
Al 11,000
02 RItAMEE 22,000 0 22,000
WA WMIHHOIA BAIX 22,000
= 11,000
Al 11,000
NENSLA(XHA) 36,400 36,400 0
206 24l 16,400 16,400 0
01 M2l 16,400 16,400 0
FRIGS 2ol ASAE 10,700%1,000 *13] 10,700
SO0t SAHE HAS2H +
57,000%100 * 13 5,700
308 XX HHSO0IA 20,000 20,000 0
01 UHXSHBAEES 20,000 20,000 0
Z2AY g 3 Alsdl X
1,000%20,0005 * 13| 20,000
IIES YA 32,170 31,600 570
Il 19,300
Al 12,870
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SN SEMNRED
I olFE 5 BAS MM U SENL(SHHSSM/SY - 5E)
ool s=42 SEAHE (el &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
Al 7,600
206 M=l 5,600 5,600 0
= 2,800
Al 2,800
01 M=4l 5,600 5,600 0
Z42 AN ARPY 5,600
= 2,800
Al 2,800
307 RI2HOIH 9,600 0 9,600
2 4,800
Al 4,800
05 BItRE = 9,600 0 9,600
ZASTAA HACPHAE HISX & 9,600
= 4,800
Al 4,800
SMSHAOIZSHHKXH) 8,000 8,000 0
= 4,000
Al 4,000
308 XHXICHHI SO & 8,000 8,000 0
= 4,000
Al 4,000
01 IXNHMBLEEXS 8,000 8,000 0
=42 AHA XS 8,000
= 4,000
Al 4,000
A0ol0l=d 2el Arg 12,450 29,644 217,194
| 6,775
Al 5,675
307 PI2HOIA 12,450 29,644 AT, 194
Il 6,775
Al 5,675
05 BIZtRE = 12,450 29,644 217,194
2 HESFY| 12,450
J| 6,775
Al 5,675
HE2A LU (s SDH)(I1EHIIE 90,948 81,842 9,106
Jl23d| 90,948 81,842 9,106
LT 90,948 81,842 9,106
201 Yot Y| 26,988 25,932 1,056
01 AFR 22| 26,988 25,932 1,056
L= BIEPS -1 15,600
J=gdfs8 S| 11,388
202 (4 H| 56,760 51,710 5,050
01 2U0ibl 56,760 51,710 5,050
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